DERIVADAS

1.y = 5x%-3x°+3x*-2 2.y = xM2x3+x-4
3. y:3x1°+2\/;+E 4, y=\/§.x3-7z.x+\/§
X
5.y =4 senx - 3 cosx 6. y:2\/;+3+x5
X
7.y=43+2x3-x3+4 8. y:%.cosx-sﬁ
9.y = cos(3x) 10. y = cos*(x%)
11. y = sen (3x%-2x) 12.y = cos(x?)
13.y = sen*(2x%) 14.y = cos’(3x%)
15. y = 3 sen’(2x-3) 16. y = c0s°(3x°)
17.y = cos (senx) 18. y = cos?(sen(3x))
19. y=3%/cos’ x 20. y:?’\/COSZ(XZ)
21, y=4/x?-3x 22. y=3%/(x*-3x )
23. y:( 2 Jx - 3x )3 24. y=3/sen’X
25. y=3/sen(3x) 26. y=+/3x - senx
27. y=( 3y - y1-%2 | 28. y=sen( y3x?-5x )
29. y:\/senSX + (x-1)° 30. y=coss( x2-3\/;)
31. y:i 32. y:g
5 X
4 3.
33, y="= 43X 3. y=X"3
4_ 2 _ 3
35, y= LX) 36, y=01)
3 3 X
2
37. y= ;( 38. y:@
x -1 X
3 X
39. y=./— 40. y=——
y X y V3 X
41. y=3/3 x?- senx 42. y=1In(3x-1)
43. y=In (x*-3X) 44, y=In+/x-2
45. y=log, (3x%) 46. y=¢*
47. y=2' 48. y=g?
49. y=3*" 50. y=tg (x°)
51. y:3 ex2 3x 52. y= /ecosx
53. y=3 tg°x 54. y=(x2-1).(x-1)
55. y=x2 . Inx 56. y=¢X . COS X
57. y=x* . & 58. y=¢"" . senx



59. y=Inyx? . e*"*

2_3 3
61. y=| X
g [ x2+1]

63. y=( cos?3x - sen’x ). "

65. y=

67, y=in[ 0% |
eX

_3x*-2x*+3x-2
o 2x-1

71. y=arctg (x*)

73. y=In(secx)

75. y=arcsen x .

. yzln(%j
eX

79. y=In(arctg(5x) )
81. y=5 arctg®(senx)
83, y= arcsenESx-Z)
X
(NO)85. y=x*™
(NO)87. y=(cos x )

3
89. yzln( X+22 j
X

69. y

senx-g*

o1. y=10[ o2

COsX

X

(NO)93. y= 0T

95 v,/ sen’(e")
arctg (cosx)

97, y= 4/cos(e*) . x

tgx
eg

99, y= arctg ¢* . cos X
In(x*-x)

60. y=

62. y=Inx . g™

I ny? ’
64. y=
g ( x°-2 j

_e'+Inx
X2 - senx

/sen X
68. y=
y x-1

70. y:( sen(e*) )Z . COS X

66. y

72. y=arcsen x°
74. y=arctg (I n x)

76. y=arctg (e*)

78. y:arcsen( ixl ]
e

80. y=arctg \/?

82. y= 3> ()
_senx - tg x
© a3
(NO)86. y=(sen x )"
88. y:4arctg(lnx)

84.y

2
3x

(NO)90. y:[ € j

senx

tg VX J

92. y=cos
sen(lnx)

X

tgx
94. y=cos’(4¢") . In( gz j

I n(cos x)

e

96. y=

COs X

(NO)98. y=(tg (") + x*

:In\/cosx

100.
y sen ( eCOSX)



SOLUCIONES Todas las soluciones se dan sin simplificar

1. y'=30x° - 15x* + 9 x? 2. y=-4x°-6x*+1
1 3
3.y'=30x° + = - = 4.y'=33 . -1
y N d
5. y'=4cosx + 3senx 6 y'—i-£+5x4
' ' N
3
7. y'=15x? 8. y'=-2 senx -
y 75 2 x
9. y'=-3sen(3x) 10. y'=-2cos(x?) . sen(x*) . 3x?
11. y'=cos(3x?-2x) . (6x-2) 12. y'=-sen(x?) . 2x
13. y'=3 sen?(2x?) . cos(2 x?) . 4x 14. y'=4cos*Bx*) . (-senBx*) ) . 12
15. y'=6sen(2x-3) . cos(2x-3) . 2 16. y'=5¢os*(3x?) . (-sen(3x?)) . 6x
17. y'=-sen(senx) . cosx 18. y'=2cos(sen3x) . (-sen(sen3x)) . cos3x . 3
- _ 2 2
19. y'= 2 COSX . senx 2. y'= 2cos(x°) . sen(x”) . 2x
3 %/cos’ x 3 3/cos*(x?)
- 2_ -
21, y'= 2X-3 99, y’:2 (x*-3x) (2x-3)
2 \[x?-3x 3 8/(x2-3x )"
1 2 senx Cosx
23. y'=3( 2 /x - 3x (—3] 24, y'=2 T2 %
( )Z Jx 3 3/sen’x
3 cos 3x 3 - CosX
25, yV=— —— 26. y=—- %
d 5 3/sen’(3x) d 2 +/3X - senx
- 2X 6x-5
27.y'=3 (32 - J1-42 | .| 6Xx - —=—=— |28. y'=cos| 4/3x2-5X | . ————
(3x ¢ f ( 2 J1-%2 J | | 2 /3%~ 5x
2 _ 2
29 y,:3sen X cosx + 3(x-1) 30
2 \/sen3X + (X-l)3
3
'=-3cos? x2-3/x ). senl x?-3+4/x .(ZX-—j
=300 208 ) e 24k ). (203
1 5
3l y'== 32 y=-—
y 5 y 2
3_
33. y,:4x 3 34, y'=2x + 3
4 e
4 _ 2 3_ _ 2 _ _ 3
35, y’:2(x 3X) .(4x>-3) 36. y,:3(x 1)".3x 23(x 1)
3 (3x)
3
2 o2 = - X- m
37, y= 2 (D) - X2 38, y'= 24/3x 2

(x*-1Y X



3. y=—1_ 3 40. y'= 2+/3x
3 X 3 X
2 =
X
4. y'= 6 X - COSX 42, y'= 3
3 3/(3x2-senx )’ 3x-1
1
! 2X - 3 [ 2 X'2
43, y'= 44. ' =
y x2 - 3X y X-2
6 X 2
45 y'=———— 46. y'=¢¥ . 2X
Y73 2 yoe
47. y'=2* . In2 48. y'=e" % | (2x-2)
3x2
49. y'=3*" . cosx .1n3 50. y=——"—
cos’ (x°)
51 y'=3 % . (2x-3) 52, y=_€& X
2 eCOSX
53, y'= 0 10 54, y=2x (x-1) + (x2-1)
cos” X
2
55. y'=2x . Inx + X~ 56. y'=geX 2X COSX - g* senx
X
57. y'=4 CoLoe+ xt e¥ .3 58. vy’
1
_ 24X
2 X Jx
59. y'="" . ™ + Inx® e*"* cos X 60. y'=— Y2
Y= y (In/x )

61.

62.

63.

64.

g X3 2A0GEHD) - (x3-3)2X
y el ALY

1
y'== . ™ + | nx . @™ (2X - cOSX)
X

y’:(2<:os 3x (-sen3x) 3 - 3sen’X COSX ) :

2 X
In 7(x3-2)'|nx23x2
y’:z[ J

e’ + (cos?3x - sen’X) e 3x2

y'=e"¥ | (4x3-6X) senx + ¢ cos X

X3_2 (X3_2)2
1
1 3*-Inx31n3 (eX+XJ (x*-senx) - (e*+1nx) (2x-cosx)
65. y'=% > 66. y'= .
(3%) (x*-senx)
67. y'= e COosX g* - e2 senXx oo y'= 1 _ cosx (x-1)2- senx
senx (e*) 2\/senx (x-1)
x-1
69 y,_(12 x2-4x+3) (2x-1) - Bx*-2x*+3x-2) . 2

(2x-1)



70. y'=2 ( sen (e*) ) . cos(e¥) . e* 3 cosx - (sen(e3x))2 . Senx
2
7. y=—2% 72, y'=—%
1+ x 1-°
senx 1
. d
73. V'= cos” X V= X
Y secx y 1+ (Inx)Y
COS X 3x
75. y'=—2 - arcsenx g“* senx 76. y':e—s2
1-x? 1+ (e™)
3¢ . - (x+1)e"
o tgx e 6x e (Xz)e
77 y=8_ cosX 78, y'=— ()
tgx (e3x )2 \/1 ( x+1 jz
eX
32
3
79.y=—* > 80. y'= 2yx’
arctg(5x) 1 + (5x) 1+
COS X 5y 2X
81. y'=10 arctg (senx) ———— 82. y'=3¥0x) __—Z _|n3
y g ( )1+sen2X y=3 1+ o
2
3 X = - arcsen (3x-2) 2x
1-(3x-2
83. y’: ( ) 4
X
[ COSX - ! j A4x-3 - (senx - tg X) 4
. cos’ X 2 \J4x-3
84. y'=
4x-3
85. y’:( cosx . Inx + Semx j x5
X
2
86. y’=( 2x I n(senx) + L J (sen x )
enx
_ 2 (x*-x) senx ox
87. y=| (3x*-1)Incosx - ~——— | . (cosx)
COSX
1
88. y'=4¥0lm X ___ |n4
y 1+(nx)

89.

90.

91.

1 X+2 jz x2-2X (X+2)

= - 3
Y (x+2 )3 ( x° 4

X
2
X

3x 3x 3x 3x X
senx 3e>senx - COSX
y'=| 2xInx| £ + X = € : € .
senx e sen® X senx

(cosx-¢") (3x-cosx) - (senx-g¢*) (3+senx)
(3x - cosx )’

2

y=10 a2 ] 1n10



1 1 1
. .sen(Inx)- tgv/x . cos(Inx).=
I tg Vx cos’ VX 24/x (Inx)-19 (nx) X
92. y'=-sen .
sen (I n x) sen’(Inx)
( “senx Innx + O j X (Inx)® - x** 3 (Inx) 1
93, y'= X - X
(Inx)
94.
3 tge.3° . 2¢.1n3
th 3X272X'gx.3 .zZX . 1n
y'=2 cos(4e") . (-sen(4e*) . 4 ¢* . In( ; ) + cos’(4e*) . = £93 :
3X tgx (3*)2

eIn(cosx) ﬂ . Scosx _ eIn(cosx) . SCosx (-SenX) |n5

1
95. y= : COSX
5 eI n (cosx) ( 5cosx )2
5COSX
96.
2sen(e*) . cos(e*) . ¢* . arctg(cosx) - sen’(e*) . % . (-senx)
y'= 1 1+cos” X
3 4| sen’(e’) arctg’ (cosx)
arctg (cos x)

_ X X + X
sen(e*) e* x + cos(e*) _ /—etgx ) ’—cos(ex).x _ 1 S 1

L Jeos(e*). x 2 \Je® cos’X
97. y'= o
e
S( X)+2x
98. y'=| In(tge*+x?) + x S8/ (tg(e*) + 52 )
y (tge*+x?) . (tg(e*) + x*)
99.
e’ cosx - arctge® senx | In(x?-x) - (arctge* cosx) 2x-1
- 1 1+(e")’ X’ - X
arctg e* . cosx I n?(x*-x)
In(x2-x)
1 - senx

sen(e®) - I n4/cosx cos(e”) ¢ (-senx)

100, y'= Jeosx 2 +/cosx

COSX )

sen’(e



